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Booklet A

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. -
For each guestion, four options are given. One of them is the correct answer.
Make your cheice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical

Answer Sheet.

1 Find the value of 11 +8x4-16+ 8.

(1) 27
(2) 38
(3) 41
(4) 74
2 There was i—! of milk in the bottle at first.

hake a cake. How much milk was left?

DR
@ !
@
@ !

(20 fnarks)

Mrs Keong used % of it to



3 What is the height of triangle ABC if the base is AC?

(1)
(2)
(3)
(4)

AB

BD
AE

CF

There are 15 red, 24 blue and 36 yellow buttens i a box.

What is the

ratio of the number of red buttons to the fotal number of blue and yellow
buticns in the box?

(M
(2)

4

[&a4

Py

fi.LT



5 AB and CD are straight lines. Find 2w

A

(1) 40°
(2)  50°
3y 130°
4) 140"

§  Whatis the value of 0/4'x 1000 ?

(1)  0.0604
(2) 40

(3) 400
(4) 4000

t go



Peter spent half an hour shopping before he watched a movie for
2 hours and 20 minutes. How much time did he spend in ali?

() 12
2) l%h
@ 2.n
() 2o

In a class of 40 pupils, there are 15 girls. What percentage of the class
are boys?

(1) 25%
(2) 37.5%
(3)  60%
(4)  62.5%

15



The graph below shows the savings of Ahmad and Fatimah from Apritto
July.

60 +

—— Ahmad
“a— Fatimah

40 +

Savings (§)
(8%}
O
;

20 +

7777777777777777777777777777777777777777

104

I

April May June July

What is the difference in the decrease in their savings from May to

June?

(1) $10
(2) $14
(3 $24
(4y %34

15



10 In the figure below, ABC is an isosceles triangle. BCD is a straight line.

Find ~x.

A

X

152°
B C D

(1) 56°
() 76°
(3) 104°
(4)  124°

11 In the figure, PQRS is a rhombus. TS5Q is a straight line. Find Z/RST.
R

/N

cn\

. > Q
i ,/
/
70°
p
(ty  55°
{2y 70
(3) 440
(5%
(4y 125



12

13

The average mass of 8 menis 73.9 kg. Ifthe mass of another two men
is 84.5 kg and 58.2 kg, what is the average mass of all the men?

(1)  71.35kg
(2) 722 kg
(3) 73.39 kg
4) 792 kg

The table below shows the rental charges for canoes.

Rental Charges

First hour $ 14

Every additional é h or part thereof $ 6.50

Royston rented a canoe from 10.15 a.m.to t pm. How much did he
pay”?

() §27.00
(?) $36.75
(3} $40.00

(4)  $4100



14.

15

The solid below is made up of 4-cm cubes.
solid?

(2)
(3)
(4)

72 cm’®
96 cm’
320 cm®

384 cm”

Find the total of the number pattern below.

81-80+79-78+77-76+

What will be the digit in the tens place?

(1)

(3)

(4)

What is the volume of this
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Booklet B

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated.
{10 marks)

16. 7 214 hundreds, 16 tens and 40 ones = hundreds

Ans:

17 Fill in the box with the correct mathematical symbol
(+, —, x of +) to make the statement below true.

25x3 j15+5+7=85

Ans:

18 What is the missing number in the box?

40 :16 =25 f‘“q
L

gl



19 Measure and write down the size of ZCDB.

C 8

S

Ans:

20 Muthu's luggage is 780 g heavier than Devi's luggage. I Muthu's
luggage has a mass of 126 kg, what is the total mass of both their
luggage?

Ans: _ kg

21 A rectangular wall is 14.2 m by 8 m. If the cost of painting is $3 per m*,
how much would it cost to paint the wall?

10



22 0.3 of the library books are Ghinese books and the rest are Enghsh
hooks. If there are 600 Chinese books, how many English books are

there in the library?

Ans:

23 A bottle contains 300 mi of sparkling juice. Mrs Khoo needs 1.7 7 of
sparkling juice. How many botties of sparkling juice does she need to

buy?

Ans:

24.  Which of the following shape (s) cannot be tessellated?

—

>
W
a
2




25

The graph below shows the amount of money Grace spent during the
one-week September holiday.

- 50

50 4~
40 4

30 4 -

20 +

Amount of money (3$)

10 4-—

Food Movies Sheoppng Transport

If Grace spent 58% of her weekly pockef money and saved the rest of
the money, how much pocket money did she save?

12



Questions 26 to 35 carry 2 marks each. Show your working clearly in the
space below each guestion and write your answers in the spaces provided.

For questions which require upits, give your answers in the units stated.
(20 marks)

26  Andrew had $268 and Brett had $172 at first. Each of them bought a
pair of skates at the same price. After their purchase, Andrew had five
fimes as much money left as Brett.  How much did each pair of skates

AI“S— W = -

27 Twice of a number is greater than i— of the same number by 10

What is the number?

28 Aisha has enough money to buy either § peaches or 12 apples. If she
buys 8 apples, how many peaches can she buy with the remaining

money’?




29 The figure shows a rectangié ABCD and a triangle CDE.  Find the area
of the shaded part. :

18 cm

Ans: oy

30 Miss Tan had 10% fewer beads than Miss Yeo.. After Miss Yeo gave
50% of her beads to Miss Tan, Miss Tan had 7000 beads How many

beads did Miss Yeo give Miss Tan?

’ Qé(’

14



31 very minute, Machine A piints 240 pages and Machine B prints 300
pages. What is the total pumber of pages that Machine A and dMachine
B can print in an hour?

32 In the figure below, ABCD is a square and CDE is An equilateral
triangle. Find ZAFD.

A : — B

X
/ \\

D™ C ] - e

33 What is the missing number in the number pattem'bela\n}?

5

19 76

3

56

20



34 Draw a paralielogram WXYZ in which £4WXY = 65° and WX = 6 cm.
The line XY has been drawn for you. Label your diagram clearly.-

35 If all the 2-cm cubes as shown on the right are put info the box below,
' how many more of such 2-cm cubes need to be packed into the box to
fill it to the brim?

4 2-cm cubes

Box /

Hhem

9 cm

by
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For questions 36 to 48, show your working clearly in the space provided for
each question and write your answers in the spaces provided.

The number of marks available is shown in brackets [} at the end of each
question or part-question.

36

37

(50 marks)

Some lamp posts were placed in a straight row at equal distances apart.
The distance between the 1% and 6" lamp post was 85 m. The
distance between the 2™ and the last lamp post was 187 m. How
many lamp posts were there altogether? : '

Ans: o 131

Margaret, Pete and Alvern shared the cost of a handbag for their

maother. of Margavet's share was equal 10 é— of Pete’s"share.

2 | -

| 3 , .
5 of Pete’s share was egual to " of Alvern's.  If Margaret paid $150

more than Alvern, how much did the handbag cost?

17



38

ig

In the figure below, ABCD is a parallelogram and DEF Is an equ:!ateraf
tiiangle. CDE and DFFG are siraight ines. - :

G
(@) Find £x
(b} Whatis the ratio of //xto Zy?
E
64°

B A

Ans: {(a) 1}

(b} : . (2}

Helen jogged a distance of 1000 m on Monday. Everyday she
increased the distance she jogged the previous day by 10%. What
was the total distance she would have jogged on Thursday? Give your
answer 1o the nearest kilometre.

Ans: 3}

1es



40. In the figure below, ABCD is a parailelogram and AB // EF.

{a) Find Za.

(b) Find 2b.

Ans: (a) 7 | f1]

(=) H— 12

41 ABC and BDE are isosceles triangles. BCF is a straight line. Find
ZACE.

16 . (3]




42

A piece of rectangular paper measuring 15 cm by 10 cm is folded along
the dotted line AB to form the figure on the right. 1t was then folded.
along the dotted line CD. Find the area of the remaining paper after it
was folded along AB and CD.

Ans: [4




43

: G({

Amy, Beatrice, Catherine and Dawn had an average of 56 dresses.
Amy had 45 dresses. The total number of dresses that Beatrice and
Catherine had was 13 more than the number of dresses that Dawn had.
What was the average number of dresses that Amy, Beatrice and
Catherine had? '




44

The graph below shows the number of Primary 110 Primary 6 pupils
who had completed their ontine assignments during the September.
holiday.
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(a) How many pupils compieied their assignments altcgether?

(b) If only 40% of the total school population completed their online
assignments, what percentage of the pupils who completed their
online assignments were P1 to P3 pupiis?

22



45 A tank measuring 60 cm by 40 cm by 30 cm was empty at first.  Water

from a tap started to fill the tank at a rate of 2 I per minute.  After the
water level had reached 2 of the height of the tank, waler began 1o leak

from a crack at the base of the tank at a rate of 400 m/ per minute.

What was the total time taken for the whole tank to be completely filled?

23



46

Ada, Becky. and Cathy had some stamps. Cathy had 20% more stamps - -

than Ada. Cathy had 75% as many stamps as Becky. Becky gave 45
stamps to Ada and Cathy in the ratio of 4 : 1 so that all three  girls will

have the same number of stamps.

{a) How many stamps did Becky have at first?

(b) What percentage of the stamps did Cathy have at first?

Ans: (@)




47 For every 5 roses in a florist shep, there were 3 tulips. For every 9
carnations in the florist shop, there were 4 Wlips.

{a)} Find the ratio of the number of cainations to the number of roses to
the number of tulips in the shop.

(by After 21 roses were sold, %i of the remaining flowers were roses’

How many more camations than tulips were there in the shop?

Ans: (@) _ I ¥




48

Three schools, School A, School B and Schoot C barticipated in the
Racial Harmony Games Day. There were 68 rebresentativeé frofn
Schools B and C.  If 32 representatives were not from School B and 44
representatives were not from School C, what was the total number of

representatives from the three schools?

Setiers:

END OF PAPER fa

his Eleing Ho
Mdm Denise Jung



16.

18.

28.

22.

24,

26.

28.

30.

32.

Nanyang Primary School

Primary 5 Maths SA2 Exam (2007}

Ql Q2 Q3 Q4 Q5
3 3 2 1 3
Qb Q7 Q8 Q9 Q10
3 4 4 2 4
Q11 Q12 Q13 Q14 Q15
4 3 3 4 2
7216 17. +
10 19. 105°
24.41kg 21.  $340.80
1400 23 6
A 25, $105
$148 27. 8
157 ) e
z 29. 175
2500 31, 32400
165° 33, 60
35, 24
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37.

38a.

38b.

40h,

85 = = 17
17 x 4 = 68
187 — 6§ = 119
119 = 17 =7
6+7 = 13

Il

3x 3=
9 — 4 =
156 + 5 =30
30 = 1 unit

4+6+9=19
39 x 19 = 8570

N

180° - 3 = 60°

60° + 32° = 92°

180° — 92° = 88°

88° — 60° = 28°

28° + 32° = 60°

180° — 60° = 120°

60° + 64° + 120° = 244°
360° — 244° = 116°

180° - 28° = 152°

116 : 152

38 : 76

29 : 38
1060 = 1km
1960 = 10% = 100
1000 + 100 = 1160
1008 + 1160 = 2160
2100 + 1206 = 3349
3360 + 1300 = 4000
4600 = Skm

186° — 50° = 130°
180° ~ 130° = 50°

56° x 2 = 1H°
360° —~ 160° = 260°
260° — 2 = 130°
130° — 80° = 50°
18G° — 50° = 130°

Pape Zof 3



4%.

az.

43.

462,

46.

48,

180° — 38° = 142°
142° = 2 = 71°

180° — 112° = 68°
68° + 71° = 139°
180° — 139° = 41°

15 x 10 = 150
lxl(]xl(l=5€)
2

150 — 50 = 10

I

— x5x%x5 125
2

100 — 12.5 = §7.5cm’

= (Catherine
Beatrice
Y = 13 (Dawn)

X
Y
X

1l

-+

56 x 4 = 224
224 — 45 = 179

X+Y+X+Y-13=179
2X +2Y - 13 =179

2X + 2Y = 179 + 13

2X + 2Y = 192

X +Y =96

Catherine + Beatrice = 96
96 + 45 = 141
141 <+ 3 = 47

200 + 240 + 260 + Zéu + 430 + 360 = 1750
200 + 240 + 260 = T

700
1750

x 100 = 40%

216 47a. 27 20 :

31— 47h. 45
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